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7 mhe 1975 Inter—ach0u1 Mathematlcal Cumpet1t1on
problems are reproduced belox. In Paper 1, an asterisk is
.arked after each.correct answer. In Pmper 2, solut1ons af”

. S

some nf the problems or parts thereof are g1ven.

_ e, Eengg_i : : p
Menday; June 2, 1975 | @ : ITime 9,00 asits = 11,00 a,me

1. The number,/i 0. |
(a) a ratlonal fractlon, (b) a finite declmal' (c) 1414213

W

(d) an 1nf1n1te repeatlng declmwlf (e) an 1nf1n1te non-

¢ &%
.l... . ;

repeatlng declmal.

2. If n is a p051t1ve 1nteger greater thqn or equal to 2,

+The 8001ety wishes to thank all those whe in une wwy or ano-
ther helped to make this ' bompetltlun a success, paticularly
the members. of its 1975 Competition Subcommitieg cumprising
Dr. Louis M, Y. Chen (University of Singapore), Mr. Chong
Tien Huo(Institute of Edﬁcatioh), Dr. Lee Peng Yee (Nanyang
University), Dy. Ng How Ngee (University of Singapore),
D», Shee Sze Chin (Nanyang University) and Mr., Yeo Kok
Keong (Ministry of Education).
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“#hon 2 (n? = 1) is always divisible by
(aY* 12; (b) 24; (¢) any multiple of 12; (d) 12 - n;
(e) none'of the above. i e '

3. In the figure; AB = AC, angle BAD = 30° and AE = AD.

Thert x equals :
(a) 7% () 10°%; (e) 128°%; (a)" 15% (o) 20°.

4. The hypotenuse of a right angled tri;ngle is 9cm, and
the radius of the insecribed circle is 1:.em. The perimeter
of the triangle in cn is ;
(35.12; (b) 19; (e)* 20; (d) éz;‘(e) none of the above.
5. In a cirole with centre 0, the chord AB is produced
to C so tim_t, BC equalskthe. radius of the circle. :(‘30"is
drawn,ahd extended to meet the circunference at D. AO is
drawn, Which of the following statements is correct
Awherred[_' AO];)::x and L ACO =y ? = ' 3

(a)* x=3y; (b) x=2y; (o) x=60% (d) x=2y or

x = 3y deﬁénding on the length of AB; (é)'there is no
‘ special relétionShiﬁ.bétweén x and y; | |
6. The centres of two circles are 41 cm apdrt. The
-radius-of~the smallernbircle”is 4 ém ahd thaf of the‘lar-
ger cipélé is 5 éﬁ. The length; of_the dommon internal
tangent is :

(df 41 cmj (b) j9 cm; (e) 39.8 cm; (e)* 40 cm.

7. The functidﬁ i? + px +}§ with p and ¢ greater than O
has its .minimum value when 5

(a) x = =p; (b) x = =2p; (e) x = p°/4a; (a) x = p/2;

(e)'x = —p/2.
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3. The arithmetic mean (that is, the average) of the first

‘n positive 1ntegers is

()92 Y m/2; (o) it = 1)/2' (d) (n + 1)/2; (e) n.
9. On the same set of axes are drawn the graphs of
o ax~ + bx + ¢ and the grapb of the eouatlon obtalned
by replaclng X by =x in the glven equation, If b £:O
and c;é o, these graphs 1ntersect ' '
(a) in two p01nts, one on the x—mxis, and one on the y—axis;
(b) in one p01nt located on nelther 1x1s,
(c) only at the orlgin, (d) in one point on the X-axis;
(e)®in one point on the y—ax1s. |
10. If the equation ax> + 2bx + ¢ = 0 has two equal roots,
then 1not1er true statement about a, b, ¢ is;
(a) they forn a geometric pr05resg10n, (b) they form an
arlthnetlc progression; (c)they are unécual (d) ‘they
are all negatlve numbers, (e) only b is negatlve and the
other two pOSItlve. ' ‘
11. Which of the following statements is trué ;
(a) The setvbf all’ patiohal numbéré fdrms a group undef i
mul’ oLl catlon, (b) The set of alll subsetst of & set Forus
a group under un19n-(U), (c? Lh@,set of all posltlve inte-
gers dées ﬁot form a group undér'multiplication, (d) The
set { 0,1 | forms a group under multiplication. (e) The
P AP IR o Cohn nt crous baRbY tnPtipt1oatibn
12, ‘Which of the following statements is false ?
(a) 6 is net a prime number. (b) The equation 2 + x = 2 '
has no solution in N. (c¢)” For all X, y, z € Z, ir
x°z ='ye*z, then x = y. (&) For all m, n, p €N, if’
m+p=n+p, then m = n, (e) Zero (0) is an integer.

aef,
il

2 g a1

b h

’

13, The sum of the determinants E c],
; : : 8
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(a)‘ a ctetgti|

b a+fHH

4fa ctetgti!
4b  a+f+ht]

(v)

] (c)‘23+2b‘ ctetgti| .
E s
2a+2b - a+f+h+j|

(d) |ete g+i

(e) none of the above.
ja+f  htj 5 3

14+ The positlon vector of A with respeot to 0 is (2, 5).

If AB = 20&, then the p051t10n vector of B is

(a) (2,5); () (2,15); (o) (4,10); (a)* (6 15); (e) (8, 20)

15, The position vector of 1 moving p01nt P at tlme t is

s(t) =311 + (t°2- 1)J + 9%, where'i, s % are it vecr

tors along the rectangular aerWOx, Oy, Oz respectlvely.

The velocity vector at time t is
(a)® 3T + 2t3 + 3¢%%; (b) 3 + 2t + 3t%; ( ) 3—- + 2t5% + 342 dt,
() 3l
16. Let s, —"2 r, s

+ (%= 1 )g1'+ t?“g-l-g (e) none of the eibovef

2* S s and 83 —521 . Then the sum

of the flrst n terms of the sequemnce iu } where
u = (2°+ 2)(r + 3) is V

(a) st 3s, +'2s + 3; (b) syt 35' + 2s, + 3n;' |
(e) s, + 8, + 853 (a) s1, (e) none of the above,

17" Let s Lo r3, f4 be functions ‘such that £, (x) 1 -x,

£ « (k) :;'{ = 5 T3 3 —;¥§—? , and f (x) - Z—ifl. TQen

the comp051te fso f4 ieouais _ ‘ : :
(a) L5 (b) (c) £, (a)* £,5 (e) none of the above.

e s

18. The sets A ang B have 7 and 8 elements repectively.
If their union-ﬂ;é 10 élemcnis,'how many elements da A and
B have in common e o e * - : 5 £ dsE ..
(a) 33 (b) 2, (c) 1, (d) 5; (e) none of the above.
19, A populatlon con51st1ng of 2 types of 1nd1v1duals, A gnﬁ

B, is d1v1ded 1nto 5 strata. An 1nd1v1dua1 is selected

frOm the population by'flrst selectlng at random a stratum
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and then selecting an individual at random from the stratum.
If Type A and Type B are equal in number, what is the pro-
bability that an individual belonging to Type A will be
selected ? e ’ . e
(a) 1/5, (v) 2/5; . (c) 1/10, (d) J/10' (e) none of the
-above, .-+ - :
20, Which of the following statements is incdrrect 6'
(a) If & is = subset of B, then the coriplement of B is
a subset of the complemenx of A, (b) If »* and y are both
negative, then xy is positive..(¢) 4 function from a set
A into a set B is a~%ule‘which'assééiaieéléach element of
A& with a unique element of B,.(d) stralght line and a
cincle‘gan have O, "{ ép 2 points in cormon. (e) If x 2 0,
then x° 2 x. Ty o
21, If a<band a'<b, then '» .uiig ela
(a) a.a'< (b)a+a<\2b,.(c)a-a\0, (d)a'—'x;
(e) no ne of the mbove. ' g i” ; ag
22, ‘Tet A = {fal, b, tn}l. .ﬁﬁ}oﬁyof the following state—
ments is correct ?: fv ’ : 2
" (a) a is a member of A. (b) The inté?seotion of {al and
“-Afig“ialo (e) iajb}yiS'a}éhbséﬁyaf A; (ﬁ)*ALhig*f non—
empty subsets., (e) A& is a 2-element set.
23. Find the maximum Value of:ﬁf where x 2 0. .. ', .
% 2 (b;:)'-(:t/_e)e (c) e%; (4) o3 (o) none of the

above-. e T -

24. A seguence is given by W= + 8 and Uy 00 = 10...

Lhen u ig,

(a) 100" (b) 8; (c) 8n - 790, (d) u '%, (e) n - 90.
25, Find }‘ T e

(a) 2/5; (b) 2/3; (¢)*16/15; (@) 1; (e) none of the above,

65




26, Huw many functions frum {a, b, ¢l into itself are
there ? _ 3 | {25 '
(a) 95 (6)*27; (c) 6; (a) 8; (e) mone of the abave.
27. For what.number Ease ig 3. * ;:#.22 ¥ . .
(a)"55 (b) 6; (e) 75 (a) 8; (e) 9. i
28. Let £(x) = sin(x?) and f£'(x) its derivative. Find
£ (%)) _.
(a) 2x cos(x®); (b) 4x cos {2x cos(x2)},_
(¢) 8x% fcos(x?)} cosz(xa). (d) icos(x )lcosizx cos (x2 )},
(9) none of the above.

29. Find the 1imit of the sequence

/_¢2+/— /2+/2-—+—/-7' /2+/2+ﬂ__7_._, cos

(a) /25 (b) 1, (e) 3; (Q)° 2; (e) none of the above,

30, Evaluate L Tf%cl’z')“ o

(a) 4/17; () 4/3; () 15 (@) 3; (e)"none ‘of these.

31, Sum the series 1 1 % 1 e
‘4 7 4 s 10 7° 10-13

(a) 15 (b) 1/14; (c) 1/@, (d) 1/543 (e) none of these.
32, Find tan (20/5). %

(2) /5 = /35 3 (0)° /5+/—5.(c)/'+4,(d)/5+/g

(e) none of these.

33. Place three equal squares.tqgéiher as showne
Lrﬂ/ B A X
Then

(a) 286 =a + Y3 (b)y._zp, (0)28..3a- (d)“‘*ﬁ-—‘(,v
(e) ¥ = 3@ = 3. (B} . (a
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34. How many pairs of positive integers a,b are there such
that a® - b% = 7° 2
(a) 0; (b)* 1 ; (¢) infinitely manys (d) 5; (e) none of
these. e .

st —l— ) . What number daves
n-1 :

35. Let a,> 0 and a _.g(a
& approach ?

(a) a,; (») 0; ()" 1; (a) ;; &6eéwhbt'approach any num—
ber, (e) none of these,

/2

36. Bvaluate f (w - x20 sin o

(a),,:, R OB M.:f [+ 435 (@3 @21
(e) nene of these.
37. Let n be a p031tive integer, Then “thé fraction
(n + 9)%/(n + 3) is a positive integer
(a) if n is a multiple of 3; (b) if n is a multiple of 3
not more than 33; (e¢) if'fhe values of n form an arith-
metic progression; (d) for exactly five (5) values of n;
(e)’none of these; ,.. |
38, A farmer ‘has erected an L-shape»fence of d1mens1ons
60 metres by 20. metrea. If he has ‘an additional 120 ;etres
of fencing, what 1s the largest possible nectangular area
he can enclose e : "> :
(a) 1,200 sq..m,‘(b) 2,400 sq. m; (e) 2,500 sq. m;
" (a) 10,000 sg. m; (e) none of these.
39. IC { + 2+ 3 + *o++ k= n® where n is less than 100,
then k »
(a) equals 1; (b) equals 1 or 8; (¢) eqguals 8; (d)fequala
1, 8 or 49; (e) can take more than threc (3) values.

40. Let £ be a function defined on the Peal line such

that f{ ifxe€eq
£(x) = { o if x€q°
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"Then £ is
(a) continuous; (b) continuous only on Q. (e) continuous
only on Q s (a) contlnuous only at some p01nts in Q

(e) none of the above.

’

Monday, 2 June 1975 =, Time 2,00 Defle = 5.0C por

" 1# Let £ be a function giten By y = £(x), We sa& that T
is identically zero if y = 0 for all given values of x.
Su;)pose that £ is & function which is not identically

zero, and that f satisfies

£(x) + £(z) = zr("*’*)r(“)
vaé: (i) f(o) =1, ' | | e . |

(i) 2(2x) = 28(0) % = o s o |
Give an example of such a function,

2. Let C be a right circular cone with height /1 — o

and base radius r such that r < 1. A spider crawling on
the owryved surface of O wishes tob' take s turt round the
cone and get back to where it was. Ir it starts from a
point P at a distance x from'the vertex, what'is the
shortest possible distohoe it can travel ? Suppose that,
in taking the tufﬁ, the spidef‘l}xﬁst paés'through the point
on tpe’circumference of the base which is furthest away

from P.. Show that the shortest poss1ble dlstance it can

tra‘ral is 2 /1 = ax cos(‘lTrT+ PSS ¢
Yhat happens if r> % ? rd

, = _ = |
3. (a) Find J/a - x* ax, e i |
4 g, = 5
x :
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(b) Ir f;(i)“: J tPet at, prove that
5 R R (x) = -(x ‘e x)/m

Hence, or otherwise, evaluate the integral
2 £ ]

4.'(a§ "If AB and CD.are perpendicular diameters of a circle,

prave that the area of any inscribed quadrilateral ACEE

(see Figure) is equal to %

(b) Prove that the sum ef the three perpemiifulass from
a point inside an equilateral triangle te the sides is equal

to the altitude of the triangle .

- B TS an~be the probability that n independent trials
with success probability p result in anveven‘numbér of suc-—
cesses. . BExpress a, in terms of p and_an

o
ca = #l1+ (1= 2p)7.

Show that

6. Let a, b, ¢ Be >dd integers, .Prove:that the routs of
the equation
ax2 + bx '+ e =50

camot be rafionéi numbérs.

7. A right circular cone is circumgoribed to a sphere of
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v . 8
e =

radius a, with the base of the cone touchlng the sphere,
Find an expr9851nn for the vqume of the cone in terms of
a and the semi—vertical angle of the cone, and show that

when the volume uf the cone is a minlmum it is twice the

volume of the sphere, . :

8. & small ball is suspended from a point A by a weight-
less thread of length T. A nail is driven into the m11
at a distance 1/2 vertically below A. ‘The ball is drawn

aside co that the thread takes up a horlzontal pus1tion
and then released. :

5

(a) At what point in'fhe ball's trajectory will the
tensiun of thé ihread dlsappear ?

(b) What is the highest 901ﬁ§ to which the ball will
rise ? : )

(c) At what point will the ball pass :through the ver-

: tlcal 11ne passing ‘through the point uf suspersion ?

9. Three unifurm smuoth cylinders, each of radiué a and
weight W, have their axes hor1zonta1 and par111e1. Two
of them lle on a smuoth horizontal plane,_not tuuching
cach utner. The thlrd lies symmetrically on tup of them,
not fouétlng the plane. uqu111br1um is preserved by a
light endless string, which passes éround them, Prouve that

the length 2ma of string is in contact with the cylinders

and hence prove that, if the length uf the string is 2ma + 1,

then

6a < 1 < 8a. '

Prove that the tension in the string is

1w - 4&)/,/7{(8&_ -1) .
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10t, (a) Let [x] ~denute the greatest integer not exceeding
the real.nuﬁber x. For example, [3.9] =3, [-1.14] = -2
and L/EJ = 1. Show that, if x is an integer and y not an
integer, then [x - y] = x —-1’-'[y3. Dues the equality
held if x and y are both integers ? ° |

(b) Let a and ?hpé.two positive integers and (a,b)
dencte the greatest.éoggbn\factor uf a and b. Show that

the unly values of k for which ka/b is an integer are the

multiples of b' where b :'(a,b)b'. Further shuw that
| b—1 :

ioei
ab - 2,3 [b]—a+b-—(a,b).

1. Lét B denote the set of all residue classes of
integers medulo °p, where p is a prime number.- Write
z, ::{x15 Xysases xpi; Let u denute a positive integer.
Show that »

" (d) x": + ;_;‘; 4 eeot x‘; = =1 (mod p), if u is a mul-
tiple of p = 1. :

(ii) xl: Ty 4ot }.g = 0 (mod p), if w is not a .

multiple of p — 1. |

(Hint: It is well-kncwn that the set of all non-zero
residue classes of Z% forms a cyclic fgroup under nuldipli-

cations )

+
The following two prcblems are considered more difficult

and carry 15 points each in the marking. The other problems

carry 10 péints each,
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Solutiogg to Paper 2

.

i. By subst1tut1ng x = 2 = 0 into the équation given, one
aid f(o) = (£(0))?, so that £(0) = 0 or f(O) = 1 Ir
*(o) :.o then 2f(x) = 2f(x)+£(0) = o, 1mp1y1ng f(x) - o
for all x. Since T is not identically zero, ome concludes

+hat £(0) =

ﬁiggf‘

Slice the come along the straight line OP (seé.Fig; 1 )
to get Fig, 2, P' is the point such that OP = oP. The
shortest path to travel is therefore PP which is equal
to 'ék éin wr, If the spider must pass through the
point vn the circumference of the base vhich is fUrtheat
away from P, then the shortest distance is'FQ + P Q which

is 2 v/ 1 - 2Xcosir + x° s, using the cosine rule of a.triangle.
If r 2 %, then POP' forms an angle greatér”than or eqﬁal
(o) 1800, so that the shurtest possible distance willﬂbe
"~ The shortest dlstance required in the other case,

however’, remains the same. (see Fig. 3).
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; Cumplete solutions were given by Chan Hyck
Chuan, Teo Sioﬁg Khaw, Chua Yong Heng, an;‘?,Chiow Tunn
Chiong. g _

4o Let AR and BS intersect EC perpendicuiarly at .p')ints_
R and S respectively. Then A ARC is congment. to A BCS,
so that BS = RC. Nuw A AER is isosceles, so that AR — RE.
Hence BS + AR = IR + RC = EC.- Bt the quadrilateral ACHE
is equal in area to area AAEC + area ABEC, The area of
the sum of these two triangles is + (AR + BS).EC — 4 EC-.
Ccemplete svlutiuns were ‘given by Weng Chee
Teck, Bugel Yeco, Stephen Low Siang Kwang, Tee Siong Khow,
Chew Tuan Chiung, Tay Yong Chiang, Wung Yue ‘Kah, Wong
Kwok Kwoné, Tan Chée Mun and Lee Soon Tue.
Be Comnsider n indebéndent tfr.‘ials. _Let A be the event
that the first tria‘i is succe:ésful, B the event that there
are an «dd number of successe";;- after the first trial, and
C the event that there are an even number of successes
after the first trial. Then F
: a_=P(A N B) + P(A° N c),
which by independence is equal to
P(4)-p(B) + P(A%)-P(C)
==UPREY —_an_1) + (1 - pla
. =t G o (1’ s 2p)an_1.
Solving tl}g recursive equation, we obtain :
a, =p+ (1=-2p)p + (1 - 20)%p + +o+ + (1 = 2p)" %p
+ (1 -2 e, | :

a, = 1 = p being the probability of obtaining

1
an even number of, and therefore zero, successes, Hence
s -n—l-z 0'1 (1 =2p)+ (1 =2p)" =% {1+ (1 - 2p)™.

an =P 4 P T p »
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6. Suppose that ax® Hbx ¥ o —'0 has a pational root

p/a with:ﬁfﬁnd‘ﬁffelétively‘prime.lfThen'
a(n) + b(n) + e =20

so ‘that ap + bpq % cq 0_ ‘

Case (1) If both b and g are odd then.ap-+ bp& + cq”
is also odd and therefore chnnot be Zero.

Case (11) A If une of p and g is even, then two of the
terms ap 9 bpq, cq_ are .even and the thlrd term is odd.

This leads to the same contradlctlan as 1n case (1)

; Gumglqtg solutions were given by Tsai Wei
Kang and Siew Chee Kin., .~ . .- A 1

8. The ball first describes

the quadrant of the ecircle of

redius b, After ‘touching the

nail ©, the ball describes on
arc of é circle of radius 1/2.
Tension is zero when centri-
pedal force balances the éffect of weight.' Let M be the
position of the ball at wiich tension is zero, m the mass
of the ball. Then mg cos @& i@lthé"bompdheht of the weight
along the thread. Velocity acyuired at. M, denoted v, then
satisfies ; oo 54 4

v° ::Qgh‘t:2g‘(L‘*§lcusa) =11 = cosa), |

S TR,
Thus %%2 2mg(1 - cosa), so that at p01nt h,

. g, cosA = - 2mi5(1 - cosat), giv1ng cost %

This defdines the position of M, Thé ball continues ’

its path as a body thrown at an angle & to the horizontal
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with initial velocity v =y 2g = ;/_'bz 3. The highest point
H is attained when 2gl = (vsimt)?, giving H = 51/54.
The segment MB is calculated 'bo be equal tJ@- i

To travel this distance, the time t required is (/15/4)(/T/%).
Then the vertical distance travelled by the ball within

o
this time is vt sin « - %} = glé-, i.e. '33 beluw B. 3

Conmplete solutions uf this problem were given by
Ronald -Tan-Hee Huan, Chew Cheah Boon and Terence Siew Chee

Kino‘

10. (a) If y is not an integer, thén y = [y] + a =
(¥y] + 1 - (1 =) e 0 < $rand S0t 4 - a) < 1,
Therefore if x is ‘an"inté}';er and y not an integer, we have
[x-y] [x-—i-[y}+(1—«1)]—'x-1-[y]

If both x and y are integers then [x - y]l = x — y =
x - [ylse | ‘

(b) Since a = (a b)a and b = (a,b)b', we have

!

ka = P Sk T
- ké" whereu(‘a B =4

Therefore kzt/b is an integer it and only if b' divides‘
ka' $f and only if b' .divides k, i.e; k is a multiple of b’,
by virtue of (a',b") = :

Tw prove the identity, write [F] = [a - Logloas
For 1 € k € b1, there are exactly (a,b) = 1 many k's

for which k is a multiple of b’ and so %2 is an integer.

Therefore [%] =a - 1 [(1—)-51-{-)&] except for (a,b) - 1
rka] =a - [(b—k)a] SO

many. k's for which e

b=-1 =D .0 e
ka' ey ; o N b. - ) o
]21 [-5—] — ].21 a 1 [L—E_h]} + (a, b) 1

0

75




2t (& — )(5"‘" 1;%1 [‘—‘%‘-)-*-b‘ a7 4 (a.b) S St

b—1
s ’._l‘h:lg proves the id‘entvity.

i1 (1) Smce the set' of all non~zero residue classes of

‘b fcrms a group under multiplioation, we - have

{1 :__-‘1 (mod P),

where x_ #Z 0 (mud p) and x €Z. Lot u= (p=1)v. Then

n
x;:E V=1 (mod p).
u u = see
Her}_ce”xt+x2+ »_“-lv-x:pv-0+1+f+ +1
Ep—1(m0dp)
S (mod p).

(ii) First note that the set of all non-zero residue
classes of ﬁb furms a cyclic} gruup'. .Let'“x be a generator
of this groups Then if u is not a nmultiple of p - 15

o

r is not a factor of’ xm - 1, so that

o) 7 271 (nod ).
) ‘ s o':o.o g ' — . o
Vrite S = x1 s - 2 xp. Th_en _xm S‘_ xmx + o + xmxp
i u s e e : u £
i (xmxf) + + (xmxp) o But X X, ieep XX are all the
-distinot elements of Z. (for if not, one has XX, = X X
(mod p) fur some i £ j. Multiplying by the inverse of X
. on both sides of this equation gives x; = x, (nod p),
which is a contradiction). Therefore xmx gttt XX is
.7~just a rearrangement of Xy eoey xp. Hence

Il =

¥ x, 8=8 (med p), -
i.c. (x = '1) 8=0 (mod p), implying that p is a factor
of (x:}‘_-. 1) S. But p is a prime number, so 1] divides

x; =Y o 8,  Beosuwe of ( ), p has to divide S, ie€.

S=0 (mod p) as requ:lired.
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There were five attempts to solve this .,a‘p"x"oblem'
Two students - Hee Juay Guan and Teo Sinng Khow — obtained
partial results, but no one received full credit for part (ii)
AP ST Vnber of stiflents atteﬁ:ptixig this problem is
.probably'due to the fact that not tom many schools use the
new syllabus. In fact the flve attempts were from studentu

of' five different schools, suggesting “that they were indi-
vidual efforts.

eeel suggest that there should be a colurm for
quafiea;by practising $ch901 teachers., Through this colurm
they may ask for . T

(i) methods on how to teach a certain topic;

(1;) splutipns?to_g problem.whlch phe teacher
has failed to solve,

Then readers of the Medley may come to the
rescue, If there is such a columm, a copy of the Medley
should be sent to the Principals of Sesondary Schools., In
this way we hope that more teachers will participate in the
activities of the Society.

I should like to add a short note to the book
reviow by Ho Sos Thong (this Medley, Woli3, No.1) of

'Statistical Mathematlcs by R. Loveday. The bookts answer
tc,Miscellaneous Exerclse No. 19, pabe 86, is wrong., In
other words, Lot 8, 40 - FpE N E G .

n1 + 2n2,

(“ +2“ )(n +2n,, )5]/5'
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